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TOURISM ADMINISTRATION AND MANAGEMENT
PAPER —1II

Note : This paper contains fifty (50) Multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

1. A person travelling for a purpose other than employment or settling at the place visited

is called :
(A) Tourist (B) Excursionist
(C) Immigrant (D) Visitor

2. Allocentric tourists enjoy :
(A) Varied and unfamiliar activities
(B) Conventional and familiar activities
(C) Varied and familiar activities

(D) Varied and conventional activities

3.  Identify the correct match :

(a) TAAI (i)  Association of Air Transporters
(b) IATA (ii) Association of Hoteliers

(c) IATO (iii) Association of Travel Agents
(d) FHRAI (iv) Association of Tour Operators
Codes :



qeE

e SEwT Ue Yee
qoaA —11
TH YUY U § U (50) 9g-faehedta W9 € | Wik WY ok af (2) ek § | Wt weAt
% I |

ST SAferd Tt Tided T st I AR 372e TRl e & stfafted fordt o= Seva § &
%@W%ﬁ%

‘werfee’ wiew T 9 foRA wifafafir @t eg 3o ¥ -
(A) Tafaw v s fafafeat

(B) URufieh Ud wHI-wewHT nfafatiar

(C) fafay wd wt-wear wfafafemr

(D) fafay wd wRufw wfafafeat

TE A o e
(a) ZALTLIE. () THIUEA 3TH TR ieed
(b) FETAT (i) THIUEH 31 Sefaad
(c) ey, (ili) THTHTEE H T THed
(d) TF.THTY R, (iv) THITHTIH 3 AT
Fe :

@ () (9 ()
(A) (@) @) @) o (v)
(B) @) (Gv) @) (i)
© (@) @) (v) (i)
(D) (v) (i) (i) ()
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4.  Arrange the following developments in tourism in the order of their occurrence from
first to last :

(i)  Use of map for tourism

(i) Grand Tour

(i) Paid Holidays and Mass Tourism
(iv) Annual Holidays

Codes :

(A) (@) @) (@) (i)
(B) (@) @) (v) (i)
© (@) @) @) ()
(D) (v) @) G ()

5. Assertion (A) : Both pull and push forces promote tourism.
Reason (R) : Advertising motivates tourists.
(A) Both (A) and (R) are true

(B) Both (A) and (R) are true but (R) is not the correct explanation
(C) (A) is true, but (R) is false
(D) (A) is false, but (R) is true
6. Identify the venue of the famous snake boat race :
(A) Chilka lake (B) Wular lake
(C) Pulicat lake (D) Vembanad lake

7. Which wild life reserve is famous for one horn rhinoceros ?
(A) Kanha (B) Jim Corbett
(C) Manas (D) Mudumalai

8.  Match the following :

(a) Bharathnatyam (i) Karnataka
(b) Kuchipudi (i) Kerala
() Mohiniattam (iii) Andhra
(d) Yakshagana (iv) Tamil Nadu
Codes :

@ () (© (@
(A) @) @) @) @Gv)
(B) G) (@) @ Gv)
(© @) @Gv) @) @)
(D) Gv) (@) @) @)
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10.

11.

12.

13.

14.

Identify the correct chronological sequence of the following temples :

(A) Brihadhisvara temple, Ramappa temple, Lepakshi temple, Kailasanatha temple
(B) Kailasanatha temple, Brihadhisvara temple, Ramappa temple, Lepakshi temple
(C) Lepakshi temple, Brihadhisvara temple, Kailasanatha temple, Ramappa temple
(D) Ramappa temple, Lepakshi temple, Brihadhisvara temple, Kailasanatha temple

Assertion (A) : “Black Pagoda” was conceived as drawn on twelve pairs of wheels
by seven horses.

Reason (R) : It is a temple of Sun God.

(A) Both (A) and (R) are true

(B) Both (A) and (R) are true, but (R) is not the correct explanation
(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

Gradation of Hotels in India is done by :
(A) Ministry of Tourism (B) FHRAI
(C) HCI (D) FICCI

Which of the following is a time share condominium ?
(A) Club Mahindra Holidays (B) Sterling Resorts
(C) Select Holidays (D) RCI

Heritage hotels are :

(A) Heritage buildings converted into hotels
(B) Hotels at Heritage sites

(C) Hotels constructed in Haveli styles

(D) None of the above

Bar licences are issued by the following body :
(A) Bar Council of India

(B) State Government
(C) Central Government
(

)
D) India Tourism Development Corporation
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9. TreAfefEa it *1 wet Fremgshy
(A)  Tefever He, Toe ey, wweft HiEw, ey 6w
(B) ohamerTY HiGY, gafaver Higy, Twom Hiey, Saft Hicx
(C) el ey, Jefevar Hie, hamemre wfey, T Higt
(D) o Sy, wrneht Hiex, gefever ey, ey Hfe

10. TEHYUT (A): ‘&I TS Hl IRE ST Faehl T HA 5l §R1 Gidl 9 % €9 H Hicqd
feran T B

T (R) : T I <ol 1 AR B |
(A) (A) TN (R) T T2 €
(B) (A) T (R) T TR €, e (R) H&l A 18 ¢ |
(C) (A) T&l E, aifhd (R) Terd 2|
(D) (A) 7 €, WfhA (R) Tl |
11. 9Rd | Siecl 1 AR i Il © :
(A) T HAEE (B) UW.UH.IR.T3E.
(C) TAHLE. (D) T.3TE. ©1.4. o1,

12. Tr=fafed § @ F T oeq 9 siefateEy’ 82

(A) =9 A= BfTes (B) el RreH
(C) Tt feres (D) SRE.TE.
13. T IeAFNE :

(A) e & w9 H gRAfdd sRes o
(B) RS Torell & B

(C) ot dent H fAfHa grea

(D) T 9 = TR

14. 99 ¥ froh gN ' 9R aeEw’ SR fRan S R
(A) 9R hRMEA AT® sfea (B) T WHR
(C) <hg TR (D) sfean s Saee SiaReH
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15. Identify the hierarchial sequence :

(A) Chef d’cuisine, Sous chef, Chef d’partie
(B) Chef d’'partie, Chef d’cuisine, Sous chef
(C) Sous chef, Chef d’partie, Chef d’cuisine
(D) Chef d’'partie, Sous chef, Chef d’cuisine

16. Which State is known for its backwaters ?
(A) Goa (B) Kerala
(C) Tamil Nadu (D) Andaman and Nicobar

17. Identify the correct match :

(@) Tuticorin (i) Kerala
(b) Nava Sheva (i) Andhra Pradesh
(c) Vishakapatanam (i) Tamil Nadu
(d) Kochi (iv) Maharashtra
Codes

@@ () (o) (d)
(A) (i) (v) (D) (i)
B) @) @ @G0 (@)
© @ @) (v) (i)
(D) (@) @ @) Qv

18. Indian Airlines is re-christened as :
(A) India one (B) Indian
(C) Bharatiya (D) Alliance Air

19. Quadrilateral Project will link India by a net work of :
(A) Rails (B) Roads
(C) Waterways (D) Airways
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15.

16.

17.

18.

19.

TIehHeh ShH I TEaH Y :

(A) % fe $fEE, 9r, 9w fe ardd
(B) ¥ fe urel, A% fe Ffm, TRw
(C) IR, ¥ T e, 3w fe Hfam
(D) % fe e, TR, U fe Hiem

frefafaa § 9 =9 @1 79 ‘S’ & fau ufag ® -

(A) T (B)
(C) dfYerrg (D) 3feAH W fihie
Wﬁﬂaﬁﬁ
(a) R (i) H
(b) & @ (i) 7Y <
(c) foemE9e™ (it) dfFeTTg
(d) == (iv) TRRE
g
@@ (b) (o) (d)
(A) (D) @Gv) @) ()
(B) G) (@@ @) ()
© @O () @v) (i)
(D) @) @@ @) (Gv)
e weR g o i 1 A AW e T
(A) sfean =1 (B) sfeam
(C) (D) TA™H TR

" Farfgeiedal Uieiae’ §R1 YR ohl fhdeh STTel ¥ TRE0R SISl S ¢
(A) (B) W
(C) Temmit (D) eaEHm
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20.

21.

22.

23.

24.

“Amtrack” is a

(A) Long distance train system in USA

(B) A long distance track in Britain

(C) A combination of rail, bus and cruise transport

(D) A long distance train services in Europe connecting Paris and Lyons

The term “Standard ticket” is used by :
(A) Tour operators (B) Airlines
(C©) Railways (D) Cruise liners

ITX stands for :
(A) Inclusive tour fare (B) Independent tour basing fare

(C) Independent tour fare (D) None of these

Assertion (A) : In India both tour operators and travel agents assemble and sell tour
packages.

Reason (R) : Tour operators are wholesalers and travel agents are retailers.

(A) Both (A) and (R) are true

(B) Both (A) and (R) are true, but (R) is not the correct explanation
(C) (A) is true, but (R) is false
(D) (A) is false, but (R) is true

Read the following passage and answer the question given at the end :

Technology is changing the way tourism business is conducted. Earlier tour
operators and travel agents performed critical function in the distribution of tour
products. But the advent of Internet and centralized reservation systems coupled with
increasing telephone penetration is threatening their status. New generation of tourists
are comfortable with information search and decision making without the use of these
middlemen. The issue is ; will these be eliminated altogether or will search new functions
for themselves.

What is the threat to the existence of travel agents in tourism :

(A) New generation of communication network

(B) Technology savvy tourists
(C) Technology taking over the function of travel agents
(D) All the above

D —-9307 10



20.

21.

22.

23.

24.
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25. Match the following :

(a) Tourist demand (i)  Tourist’s perception of quality in relation
to price

(b) Tourist wants (ii) Belief that product delivered promised
value

() Tourist’s value (iii) Level of requirement of product with
attached conditionalities

(d) Tourist Satisfaction (iv) Requirement of specific form of product

Codes :

@ ® (© (@

(A) @O @) G )

(B) () @) (@) @)

(© (v) @) @) @

(D) (i) (v) @ @)

26. Identify correct sequence of standard buying process :

(A) Need recognition, Information search, Attitude development, Evaluation of
alternatives, Purchase

(B) Need recognition, Information search, Evaluation of alternatives, Attitude
development, Purchase

(C) Need recognition, Attitude development, Information search, Evaluation of
alternatives, Purchase

(D) Attitude development, Need recognition, Information search, Evaluation of
alternatives, Purchase

27. Match the following :

(a) Marketing Mix (i)  Product basket offered by firm
(b) Product Mix (ii)  Set of related products
(¢) Product line (iii) Collection of controllable marketing
variables
(d) Product diversification (iv) Entry into new product areas
Codes :
@ () (© (@
(A) Gv) (@) (D) ()
(B) @) () (@) ()
© @) @ G G)
(D) @) (@) @v) (i)
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28.

29.

30.

31.

32.

Assertion (A) : Tourism product is characterised by intangibility, inseperability,
perishability and variability.

Reason (R) : Peripheral evidence, cross training of employees, demand-supply
management, standardisation through training are techniques of
marketing tourism products.

(A) Both (A) and (R) are true
(B) Both (A) and (R) are true, and (R) is the correct explanation
(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

Which of the following technique is not used to manage demand in tourism :

(A) Price (B) Reservations
(C) Over booking (D) Cross train employees
Upselling is :

(A) Selling more quantity to a buyer
(B)  Selling high priced products in place of low priced products
(C) Selling more to premium segments

(D) High pressure selling

Tourism as a subject is a part of :
(A) Central list (B) State list

(C) Concurrent list (D) Union list

Environmental Impact Analysis (EIA) is compulsory for which of the following in
India :

(A) Restaurants (B) Hotels

(C) Travel Agents (D) Destination Planners
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28.

29.

30.

31.

32.
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WW@WW%
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(A) T (B) real
(C) <3d TSiel (D) SfRETeM =
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33.

34.

35.

36.

37.

Assertion (A) : Quality long range planning should include strategies that address
decline stage.

Reason (R) : If a tourism attraction is developed properly, it goes on for ever.

(A) Both (A) and (R) are true

(B) Both (A) and (R) are true, and (R) is the correct explanation
(C) (A) is true, but (R) is false
(D) (A) is false, but (R) is true

Which of the following makes the tourism plan ineffective ?

(A) Asset and Resource projection

(B) Unattainable goals and objectives
(C) Labour availability studies
(D) Community asset and resource inventories

Tourism Planning in India occurs at :
(A) State level (B) National level
(C) Local and Regional level (D) State and National level

Research approach described for tourism is :

(A) Tenacity, Authority, Intuition, Science

(B) Formulation, Review, Definition, Selection
(C) Social, Personal, Methodological, Modelling
(D) Description, Testing, Prediction and Modelling

Assertion (A) : Applied research focuses on new problems or on developing new
approaches to the old problems.

Reason (R) : The research process always proceeds from one step to another.

(A) Both (A) and (R) are false

(B) Both (A) and (R) are true, but (R) is not the correct explanation
(C) (A) is true, but (R) is false
(D) (A) is false, but (R) is true

D —-9307 16



33.

34.

35.

36.

37.
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(A) TWIE, §al, 31d: =0, foram

(B) Tr&qu, weften, aftvr, ===

(C) ISR, Safaess, wrfafas, defan
(D) forerwr, Sire, wfaerker, At

TEHUT (A):  STIIIH WNE STIAT A g THEAST TR AT GUA THEAS o T 791 SUnTHi
=1 faepfad & W i T §

A (R) : Sier TfeRaT Wed Th =ROT | TEY W01 i SR STUEE Al T
(A) (A) T (R) ST TTerd ¥ |

(B) (A) @ (R) IHI W&l T, ifeh (R) W =amen & g |

(C) (A) T& ¥, dfsh (R) TTerd 7

(D) (A) 7T &, &fehd (R) T 2
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38. The term error in field techniques refers to :

(A)
(B)
(©

(D)

Mistakes
Bias
Difference between value of a statistics and corresponding parameter

Both Mistakes and Bias

39. Probability obtained by relative frequency definition is called :

(A)

(©

Conditional Probability (B) Modern Probability

Posteriori Probability (D) None of the above

40. In a3 X2 contigency table number of cells are :

(A)

10 (B) 6 (C) 8 (D) 12

41. Which of the following is an example of revenue and expense control ?

(A)

(©

PERT (B) Operational audit

Special reports (D) Budgetory control

42. Identify the correct sequence of hierarchy :

(A)

(B)

D —-9307

Transaction processing system, Management information system, Executive
support system, Decision support system

Executive support system, Decision support system, Management information
system, Transaction processing system

Management information system, Executive support system, transaction
processing system, Decision support system

Executive support system, Management information system, Decision support
system, Transaction processing system
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38.

39.

40.

41.

42.

&1 TRl § TR w1es foRd ST e ©
(A) et

(B) ThwE

(C) wifeasht don dfgd Tl & s T
(D) TAfqEr de qeE S

qraferer eArefa gRTeT gRT 9T ‘ Weifaferdt’ s #ed ®
(A) HERES Hdfafat (B) Hied Urdifaferet
(C) Urefiemt dreifaferdt (D) T8 § o T

Teh 3 x 2 Hifestdl oqal H @Ml it e farat 8l @ ¢

(A) 10 (B) 6 (C) 8 (D) 12

frafafed & 9 = @1 19 T =9 {01 Al 3SR ©

A) W (B) SRS SRaT-ufam
(C) fordw wfqaeH (D) = frEm
T TSTIRH 1 T8aH W

(A) THA-F UThaTRIUl YUTell, JeiEF §=1 Jomell, el AfuRit w9eq yoret, o=
LSERER I

(B) HRIHRI At TelA yuret, fof TmefA yomet, Yeier a1 Jomett, TiH-<H Ufharmehio
Horredt

(C) YU YT YUlet, iRl ARl §HeA Jume!, TH-oF Ufsharhior yorelt, for
TR goedt

(D) HRIHRT BN, T Joe, YsieH a1 gornet, o aHe gomef, T3 Ffshameho
Yot
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43.

44.

45.

46.

Match the following :

(a) Managerial grid theory of leadership (i) Herzberg
(b) Contigency approach to leadership (ii) Fiedler
() Leadership continuum (iii) Blake and Mouton
(d) Motivation hygiene theory (iv) Tannen Bawm and Schmidt
Codes :
@ b © (@
A) @) @) () 0
® () O ) @)
© O (v @) (i)
D) (v @) O (i)

Which of the following is not a centralized reservation system ?
(A) Sabre (B) Amadeus
(C) Galelio (D) Matlab

Span of control is :

(A) Number of groups a supervisor can effectively control

(B) Number of subordinates a manager can effectively control
(C) Number of offices a manager can effectively control
(D) Time duration for which a manager can effectively control

Breakeven point (in units) is :

Total Cost
Selling price — Variable cost per unit

(A)

Total Cost
(B) Selling price — Variable cost

Fixed Cost
(© Selling price — Variable cost
Fixed Costs
(D)

Selling price — Variable cost per unit
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43.

44.

45.

46.

Frefafed =i gafed =

(a) TSI fire fasrl ifw e () TS
(b) wifesidt st 2 wiiefim (i) freer
(c) Tiefim wifegam (iii) =i T A=A
(d) wifeareH BEieH faer (iv) <=1 9w qen feaed
g
@@ (b) (o) (d)
(A) () @) @v) @
(B) (@@ (@) () (iv)
© O (@Gv) @) (i)
(D) @(v) @) @ (i)
frefafad & oF G Tk Fraighd STRETI JUlel el & :
(A) T (B) Tuhfes™
(C) Trefifern (D) e
Frre=ror =1 TR = )

(A) 31 <A TSR gurerRital FE01 T waeieh L Hoh
(B) 3 31efiTey fSem el FE01 Tk geigeh Y Tk
(C) 3 w1 YureRitel =01 Teh Jaeeh Y Heh
(D) HHAETY f9 999 T Teh Yo YHERie (E50 X 6k
SIehge g (gehTEdl H) ¥ :

el lTd
forshal goa —9fd o it aimrd

(A)

T AN
(B) forsha e — et e

IERERSLUG]
©) Torha Hoa — 9! T

&a @

forshal a1 — 9fd sohEe aferd! @

(D)
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47. ABC analysis is a :

(A) Method of inventory control by importance and exception
(B) Method of quality control

(C) A type of V E D analysis

(D) Six sigma approach

48. Capitalisation rate is :

(A) Rate of discount used to find present value of a series of future cash receipts

(B) Rate of appreciation used to find present value of a series of future cash receipts
(C) Rate of discount used to find present value of next two years receipts

(D) Rate of interest on property charged by the national banks

49. T.F.C.lLis:

(A) Tata Financial Consultancy Institute

(B) Travel Finance Corporation of India

(C) Tourism Finance Corporation of India

(D) Tourism Finance Corporation International

50. Networking capital is :
A) Excess of quick assets over quick liabilities
B) Excess of current assets over current liabilities

(
(
(C) Excess of total assets over total liabilities
(D) None of the above

-00o0-

D —-9307 22



47.

48.

49.

50.

ABC forgerm ¢
(A) W& qUT IYAIE GRI Foigl sheldl o folfel

(B)  Toreran T=07 <kt ferfy

(C) =zEl. faeeioor &l T JaR

(D) Tooa famen s

TSR ST 7

(A) et T stferfae 6t ueh ol % odHE god 1 U % T wged g2 i
(B) it Tt stfuifaai Bt Wk WIS o oo Yod i UM % foTT we gegfs # X
(C) 3T 1 S ol IR ATYWIHAT % IAHH Fod I Tl T o foTT Tgad D2 it R
(D) T Skl gRI foren T weafa =

ATEHLIME. T
(A) T WEAITEEE Shucedl TRiege
(B) ¥ IS HIONRI S Shee
(C) A FIEAE UM 3% shea
(D) <fRH HEAY HUNRH 3 —AA
“eafe Hfuea w1 8?2

(A) Tk SRIRE wht 3TUa forereh gftewafei =1 sfifeeR
(B) el <RI shi STET =Te] URewafaal 1 STfee

(C) Fd TR i TN Fed IREFITA T AR

(D) =T 9 & T

-00o0-
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Space For Rough Work



